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Practice with Series Lab

Directions: In this lab you will be determining the convergence or divergence of a variety of series of the form -

oo

>~ an. There are 3 parts to each question as follows:
n=1
A.) Apply the divergence test. )

B.) Prediction: Based on the results of the divergence test and the form of the general term a,, predict

and then implement, which test you would use to determine convergence or divergence. Be sure to show your
work. i

C.) Reflection: If your prediction is correct indicate which tip you used (or name your own strategy if it works) to
determine your prediction, and what aspects of the genetal term a,, helped you in your prediction. Else, if your
prediction failed try another until you find a test that works, then describe what aspect of the series might help
inform another student to choose a test that does work for the series. Be sure to show your work for the test that

does work.
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C.)Reflection (Including work if predicted test failed):
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A.) Divergence Test:
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C.)Reflection (Including work if predicted test failed):
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A.) Divergence Test:

C.)Reflection (Including work if predicted test failed):
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C.)Reflection (Including work if predicted test failed):
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A.) Divergence Test:
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B.) Predicted Test:
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C.)Reflection (Including work if predicted test failed):
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A.) Divergence Test:

oo q =0 & est foxis

Lo

- xS €S
B.) Predicted Test: ? $ v

Work:
g3/ -
, > Tov  cubF Ty ‘wrgye
YT etk
53/,
00 o T &
Then T ¢ & T A
LY

C.)Reflection (Including work if predicted test failed):
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A.) Divergence Test:
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C.)Reflection (Including work if predicted test failed):
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. Hint: Try reducing a,, first. NNt
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B.) Predicted Test:
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C.)Reflection (Including work if predicted test failed):
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